0

@ (x-1)(x+1)

2+x+1

® (x+2)(x—2)



olJ
RS
3|
~

@ x2-2x=0

O (x+2)2=0

@ (x-2)2=0

0

® (x-2)(x-5)

® (x-1)%2=4






4. HAAZE+2x=x-x+4Eax’ +bx+c=02 E= 1H of,
a+b+c9AU2? (Ha>0)

@1 @ 2 ® 3 @ 4 ®5



e B7] Fx=1, x =38 L5 |2 7} = o|ahg A& Setet.
H7]
@ x(x—1)=0 © (x+1(x-1)=0
® x(x+3)=0 ® (x-1)(x=-3)=0
© (x4+1)(x+3)=0

D L
=%



6. x7F-2, -1,0, 1, 22w, oJAPFAA x* -~ 4x +3 =09 S|=?

O x=-2 @ x=-1 ® x=0
@ x=1 ® x=2



7. xof TSt o) AL AA 2x2 — 11lx+a =09 St 2o] 24 W), 0 9] FS
ot

@ 14 @ 13 @ 12 @ 11 ® 10



8. olAAHA X2+ x+3k =0(k £ 0) 9 T2
Fotoiet.
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ol k 4 i, k & F&






10. o= F oA Y sV BF e A2

O (x-2)(x+3)=0 @ x*+2x=0
® 3x2+x-1=0 @ x2-6x+5=0

® 2x2-8=0



,x2—x—-2=09 &7

x 7} =2 ol 3 ol3te] A%l

11.

@ x=-—2E=x=1

@ x=2

D x=-1



oA 2~ VEr+1

12.

ol

of

@ 6

@ 5



13. 5414 <352 < 8- WESHE 5 A7} o AR A 2 —ar-tb =

09] 2 o, %U 22 Ftolet,

D R
=%



oA A x2 —dx +2 =

14.

@ 13 ® 15 @ 16 ® 18

O 12



15. the % o249l st obd 21 nEw?

D XP+x-6=0= -3, 2
@ x2+4x+3=0 = -1, -3
® x®-8x+16=0 = 4

@ X°+7x+6=0 =1, 2

® (x+1)2-4=0 = 1, -3



